1. What are the x-intercept and slope of the line 2x - 3y = 12?
2. Write the solution to the inequality |5 - x| < 15 in interval notation 
3. Find both solutions to the equation 2x2 - x = -7 
4. Simplify completely:  
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5. . Identify the domain and range of the function f(x) = x2 - 1
6. One number is 3 times another.  If the sum of their reciprocals is 
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 then what are the two numbers?

7. Graph (x - 1)2 + (y + 3)2 = 4.

8. Simplify the following expression:  
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     [write your answer using positive exponents only]
9. For the function f(x) = -5x + 2, what is f -1(x)?
10. Graph the function g(x) = log3(x).  Label its x-intercept on your graph. 

11.  Graph the solution to 
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 on the number line below.

12. Graph the solution to the following system of inequalities:  
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13. If f(x) = 3x2 - 5x + 1, and g(x) = 2 + x, then what is (f
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g)(x)?
14. Solve the equation  5(1-2x) = 9     [round your answer to the nearest hundredth]
15.  A model rocket launches from the ground with initial upward velocity of 400 feet per second.  Therefore, its height (in feet) as a function of time (in seconds) is given by h(t) = -16t2 + 400t.  What is the maximum height the rocket reaches?

16. Simplify 
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 , if f(x) = 3 + 5x2
17.  Find the sum of the following series:   4 + 1 + 
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18. Write and simplify the first three terms in the expansion of (x + 3y)15
19. A hose can fill an empty tank in 6 hours.  Its drain can empty the full tank in 4 hours.  How long would it take to empty the full tank if the drain is open but the hose is running?
20.  Solve the equation 
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21. Solve the following system 
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     [you may use any of the methods taught in Intermediate Algebra]

22. Simplify the following expression:  
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23. Solve for x in the following equation:  
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24.  Graph the solution set of the equation x2 - y2 - 4x + 3 = 0

25. Solve:  
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